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Question ID : 9895807760
Chosen Option : 1

Section : English Language




Q.1 From the given options, identify the segment in the sentence which contains the grammatical error.
Information suitable for communication, interpretation or processing by a computer are called as Data.
Ans 1. suitable for communication

v 2. Information

/< 3. interpretation or processing

/< 4 are called as Data

Question ID : 9895808088
Chosen Option : --

Q.2 Select the most appropriate option to substitute the underlined segment in the given sentence. If there is no need to
substitute it, select No improvement.

More than one traveller were injured in the derailing of the train last night.

Ans  of 1. was injured
/< 2. No improvement
/< 3. are injured

/< 4 has injured

Question ID : 9895808090
Chosen Option : --

Q3 Select the most appropriate word to fill in the blank.

The year 2018 remained as the best year of and celebrations for him.
Ans o 1. symbols

/< 2. mechanisms
/< 3. milestones

/< 4 provisions

Question ID : 9895808111
Chosen Option : --

Q4 gelect the word which means the same as the group of words given.

Government not connected with religious or spiritual matters.

Ans X 1. Theocratic
/< 2. Secular
+ 3. Monarchic

/< 4 Democratic

Question ID : 9895808107
Chosen Option : --

Q.5




Ans

Select the most appropriate option to fill in the blank.
Fathers have typically been by how well they support their families financially.
X 1. judging
/< 2. judges
/< 3 judged
v 4 judge

Question ID : 9895808094
Chosen Option : --

Q.6 Select the most appropriate option to substitute the underlined segment in the given sentence. If there is no need to

Ans

substitute it, select No improvement.

She stayed in Mumbai for two weeks over a project by an NGO working for the welfare of street - children.
/< 1. in a project
/< 2. for a project

/< 3. No improvement
+ 4 to aproject

Question ID : 9895808091
Chosen Option : --

Q7 Select the synonym of the given word.

Ans

PATRON

/< 1. Beneficiary
« 2. Sponsor

#< 3. Owner

/< 4 Comrade

Question ID : 9895808101
Chosen Option : --

Q8 Select the correctly spelt word.

Ans

/< 1. Disappointment
+ 2. Dissappointment
/< 3. Disapointment

/< 4 Disappiontment

Question ID : 9895808110
Chosen Option : --

Q.9




Select the antonym of the given word.

SHALLOW
Ans 1. Deep

v 2 External
/< 3. Primary
/< 4 Superficial

Question ID : 9895808104
Chosen Option : --

061 Select the option that means the same as the given idiom.

To judge a book by its cover.
Ans X 1. To rely on outward appearance
/< 2. To buy books after seeing the colourful cover
+ 3. To read the outer cover only

/< 4. To go with popular opinions

Question ID : 9895808105
Chosen Option : --

Q.1 Select the most appropriate option to substitute the underlined segment in the given sentence. If there is no need to
1 substitute it, select No improvement.

Ans o 1. makes a general purpose computer
/< 2. No improvement
/< 3. makes general purpose computer
/< 4 makes a general purpose computers

Question ID : 9895808092
Chosen Option : --

Q.1 T
, Select the antonym of the given word.

COLOSSAL

Ans X 1. Vast
& 2. Considerable
v 3. Countable
4 Minimal

Question ID : 9895808103
Chosen Option : --




Q.1 From the given options, identify the segment in the sentence which contains the grammatical error.

Most major holidays has some connection to the change of seasons everywhere.

Ans o 1. Most major holidays
/< 2. to the change of

/< 3. has some connection

/< 4 seasons everywhere

Question ID : 9895808089
Chosen Option : --

Q.1 i
. Select the correctly spelt word.

Ans < 1. Consititution
& 2. Constituition
v 3. Constitutoin
X 4 Constitution

Question ID : 9895808109
Chosen Option : --

Q; Select the word which means the same as the group of words given.

A sound that cannot be heard.
Ans X1 invisible
& 2 unrevealed
# 3. inaudible
« 4 impalpable

Question ID : 9895808108
Chosen Option : --

Comprehension:

In the following passage some words have been deleted. Fill in the
blanks with the help of the alternatives given.

It is very important to realise that an important factor in getting
appreciation is often not (1) by the success in academic
examinations but your behaviour (2) others. Simplicity and
truthfulness play a very important role in social (3) . One should
always be compassionate and should make an (4) to understand
the problems of companions and try to find solutions. We should always
be flexible in our (5)

SubQuestion No : 16

Q'1 - . . "
¢ Select the most appropriate option that will fill in the
blank number 1.

Ans X 1. talked




o 2 driven

< 3 intended
/< 4 spoken
Question ID : 9895808096
Chosen Option : --

Comprehension:
In the following passage some words have been deleted. Fill in the
blanks with the help of the alternatives given.
It is very important to realise that an important factor in getting
appreciation is often not (1) by the success in academic
examinations but your behaviour (2) others. Simplicity and
truthfulness play a very important role in social (3) . One should
always be compassionate and should make an (4) to understand

the problems of companions and try to find solutions. We should always
be flexible in our (5) :

SubQuestion No : 17

0'1 - . - .
5 Select the most appropriate option that will fill in the
blank number 2.

Ans X 1. on

' 2. about
< 3. for

< 4 towards

Question ID : 9895808097
Chosen Option : --

Comprehension:

In the following passage some words have been deleted. Fill in the
blanks with the help of the alternatives given.

It is very important to realise that an important factor in getting
appreciation is often not (1) by the success in academic
examinations but your behaviour (2) others. Simplicity and
truthfulness play a very important role in social (3) . One should
always be compassionate and should make an (4) to understand

the problems of companions and try to find solutions. We should always
be flexible in our (5)

SubQuestion No : 18

Q"I " . " "
s Select the most appropriate option that will fill in the
blank number 3.

Ans X 1. rejection
/< 2. approval
/< 3. denial




o 4 perception

Question ID : 9895808098
Chosen Option : --

Comprehension:

In the following passage some words have been deleted. Fill in the
blanks with the help of the alternatives given.

It is very important to realise that an important factor in getting
appreciation is often not (1) by the success in academic
examinations but your behaviour (2) others. Simplicity and
truthfulness play a very important role in social (3) . One should
always be compassionate and should make an (4) to understand

the problems of companions and try to find solutions. We should always
be flexible in our (5)

SubQuestion No : 19

Q.‘I . . - "
o Select the most appropriate option that will fill in the
blank number 4.

Ans X 1. association
« 2. experiment
/< 3. attempt
/< 4 enquiry

Question ID : 9895808099
Chosen Option : --

Comprehension:

In the following passage some words have been deleted. Fill in the
blanks with the help of the alternatives given.

It is very important to realise that an important factor in getting
appreciation is often not (1) by the success in academic
examinations but your behaviour (2) others. Simplicity and
truthfulness play a very important role in social (3) . One should
always be compassionate and should make an (4) to understand

the problems of companions and try to find solutions. We should always
be flexible in our (5) :

SubQuestion No : 20

0'2 - . - .
o Select the most appropriate option that will fill in the
blank number 5.

Ans X" 1. ambition
&< 2 attitude
& 3 role

W 4 goal

Question ID : 9895808100




l Chosen Option : --

Q.2 : - :
;~ Select the most appropriate option to fill in the blank.

A Vision is a oriented statement of where you want to be.
Ans X 1. current

< 2 future

o 3 trade

/< 4. present

Question ID : 9895808093
Chosen Option : --

Qéz Select the most appropriate word to fill in the blank.

Social media algorithms canbe  used in teaching - learning process.
Ans 3 1. momentarily

/< 2. briefly

/5 3. barely

W 4 easily

Question ID : 9895808112
Chosen Option : --

Q.2 From the given options, identify the segment in the sentence which contains the grammatical error.

Ajay says he understood French but cannot speak it as fluently as his parents and grandparents do.

Ans 3 1. but cannot speak
+ 2 he understood French

/< 3. parents and grandparents do

/< 4 as fluently as

Question ID : 9895808087
Chosen Option : --

Qf Select the option that means the same as the given idiom.

To take a stock of.
Ans X 1. To save a large quantity of stock

/< 2. To go to a stock - room and survey it
/< 3. To collect goods after an inventory

« 4 To assess and evaluate before taking a decision

Question ID : 9895808106
Chosen Option : --




Q2 T
. Select the synonym of the given word.

EXHAUSTIVE
Ans 1. Complete

/< 2. Temporary

« 3 Permanent

/< 4 Transitory

Question ID : 9895808102
Chosen Option : --

Section : Hindi Language

¥ BT T eee F REw I

Erieg

Ans x-l_ m
X2 R
# 3 gfamen
W 4 T&T

Question ID : 9895806881
Chosen Option : 1

Q2w e T F (@it @5 @ aforaia &= & e 39y fwer & 9w 5

TH ST & 398s ¥
Ans x.l_ a

X 2 merEm

V' 2 emEd

X4 g

Question ID : 9895806868
Chosen Option : 1

¥ AT T W e F T suged e F TIT

_ rEmgm T Rl
Ans X 1. T

X 2 Fgn

v 3 aTg!

X4




Question ID : 9895806873
Chosen Option : 3

¥ R T F o ¥ T 3UgET g FOTTA

AT F T an
Ans 1. qraT

Vv s

X 3. st

X 4 g

Question ID : 9895806874
Chosen Option : 2

O £y Iy F AT v e S
food geaEa &

e XK mEe
v 2 Figsy
X 3 mgaefrerar
X 4 TEAT

Question ID : 9895806887
Chosen Option: 3

U faw T I F FF ST A A o w7 IR

FHR T3 & ATAE T ¢, IHH AR FAS FHAA T B g
e X s feAmT

Vo T A

X 3 JIae FTEAE R EAT ¢

X 4 AGeET SFE g,

Question ID : 9895806867
Chosen Option : 2

7 gy IS T e F AT FY
Ans x1' ﬁ_am
2 2 FrorgoT




v 3 fxersor
X4 FgeroT

Question ID : 9895806889
Chosen Option: 3

Q8 Rw a1w g & WWifed @5 # Iforuia = & BT 39g9d fFeT &1 97 F:11
IS FH T A4 A B
Ans 1. HST
< 2 ST
o 3 HTETT
K4 TER

Question ID : 9895806870
Chosen Option : 1

Q9 Frfafem # & 37 Rmew &7 Tuw 3% 1 ¥ F 3 A wr AE a7 s o E
M TE % e I T A S

X 2 &g # 97 9T F==T

X o TAHER & WHS HUAT $T qTd HLT

X4 &7 & T wET e

Question ID : 9895806886
Chosen Option: 1

G Rew e @ e F BT s9gEd we & T
g g w d

Ans K1 FR

V2 3k

X5 @

X 4 FTEr

Question ID : 9895806872
Chosen Option : 2

U T T oreg F THTIETEY e T TUA




< 3. gqrafeefy
v o Tt

Question ID : 9895806884
Chosen Option : 2

U Rw AT weg ¥ TAUSTET eg T AU F

TehdT

Ans X1 sr@ETIUTA
v 2. FTaeEAr
A3 srEaeRar
X4 gl

Question ID : 9895806883
Chosen Option : 2

oé1 fw 1T AT 1 Fg HET A WY T HE TR F

i 1 TEE F TAT H=oal F Aed o AR SRR fr ww F Tl
e XK o F T WS w1

X 2 H REmr #r

X 3. O T olar =fgUl

v o 3geoer & Afga s

Question ID : 9895806865
Chosen Option : 4

% T I T o F O i
Ans - X1 FHTT

X 2 e

X 3 HTETTA

v o HeTT

Question ID : 9895806890
Chosen Option : 4

05-1 T 1w T F e @ # afownfe s F R sagea Reer & oama S
TEW S Fed | 3 Al

e K wate
X 2 e
/< 3. HAST




v 4 FrEmTer

Question ID : 9895806869
Chosen Option : 4

Ans

% RT U e #= REw I

Ter=R
v . GUER
X 2 glamR
X R
X 4 PR

Question ID : 9895806882
Chosen Option : 1

Ans

U Ry I ATy F AT UE e AT

e g @7 @

X1 e

?(2.@'%‘
X o gafs

v s

Question ID : 9895806888
Chosen Option : 4

% Raa &= &1 s & T s9gea e #1 99T H

IMT I e 2
Ans x 1. a;
R
X3
X a 1
Question ID : 9895806871
Chosen Option : 2
Q.1




v 1w e &1 37 @ Aa w T w1 I 2

forddt o1 8 & @eT & TR S AT § 9% @i 2
M g @ B

XedF T wgre &

Xasraarg

X4 FEr

Question ID : 9895806866
Chosen Option: 1

Comprehension:

fr=fafae ez & e wuer S ez & 3= Re
AT gl F HFJAT HITAT-

Soraetr sa & (1) ST dTel HaH 27 cAER &1 &
T SH 99 F Flaeh (2) & =2 yF-uH ¥ FAET
ST | 39 OER % 3 F (3) o= Tger & smh
STl 3mReT & ST § AT 39w ' F ge-mwE i O
9T T FH (4) #T &3 g1 30 feq = 3R TR
S _ (5) @=ET AT g
SubQuestion No : 20

% Tearer F wHfag fea == (1) F fw
39gFA 2Meg FE

Ans XK1 AT
X 2 =T
V' 5 HJaTar
X 4 |ATIT

Question ID : 9895806876
Chosen Option: 3

Comprehension:




Trafofaa wegr & Rea v #1 9fd se@myr & #5=r o
T FeAT F HFAR FITC-

Sarael aRa & (1) ST aTeT TIY 927 AER & &
AT 55 99 & Fiaw (2) & T gF-UOF ¥ HAAT
AT g1 35 AR F A & (3) &= gger & sEHr
Tl et 2@ ST § AT A9 ' # am-awe 3 T
W &7 FH (4) FX 3 €1 37 o7 = 3Rk SRt
Fr (5) HSTAT FATAT T
SubQuestion No : 21

% ey & wHfaT fea = (2) F fvw
3YgFA Te FT|

Ans 2('1%?_‘_
X 2. Hedg
'3 HE
X4 a§

Question ID : 9895806877
Chosen Option : 3

Comprehension:

fr=fofaa ez & e wasr $r oft ez & §=r e
T FIAT F AT HITC-

FEIEE IR EC i) (1) = JTeT FEW T AR g1 T
T S5 99 & Fiiaw (2) # 951 gF-aOH & HATT
T TH AR F A & (3) g Teer & swar
Tl ReT &Y S ¥ S s WY F ww-aws Rk o
AT FT FH (4) FT T &1 71 o7 w Al s
Hr (5) H=TAT ATET B
SubQuestion No : 22

% sz F wfEE g we (3) F B
39gFA e FE

Ans K1B—{
X2 Th
FaSE L
(4.@

Question ID : 9895806878
Chosen Option : 4




Comprehension:

rafef@a gy & Nea Ta=r i qfa sigzner & =
T F9Al & IFER e

Arradr sRa H (1) ST aTelr HoH 927 cAER & &
T W 99 F Ffah (2) & 7 gF-UOH ¥ FAT
ST §1 §W SRR ¥ 3+ _ (3) o= @ & gwer
SOl R @ ST € AET 39 IR # A@Th-EwE AT T
MW &7 HH (4) X ¢ &1 57 foF =i 3k s=Rt
_ (5) F=aT ST 2
SubQuestion No : 23

% ey & wfag g = @) & R
3UYFA 2AEE 2|

Ans 1. FATCT
< 2 FEoT
v AR
< 4 T

Question ID : 9895806879
Chosen Option: 3

Comprehension:

frr=fofie ez & e wuer i i ez & 3= o
AT gl F HJAR HIfAT-

FEIECIR PG (1) ST 7o HSY §37 AER gl &
T 55 99 T Fiaw (2) # 95 gF-aH § HATT
A FH AR F IR H _ (3) &7 wmA & sEH
ST AR & ST § AT 39 TR H O HTR-EwE 3T -
T FT FH (4) FT T ¢ 79 foF w3k SR
Eo) (5) H=AAT AT 2
SubQuestion No : 24

02 sy & AT feg T (6) ¥ fw
3G ATeE BT

Ans X1 FecT
(2.@3
o 2. G
5

Question ID : 9895806880
Chosen Option: 2




052 =ffae & ¥ 3w ey & 990 = I FeES AT qEEy # AT 27eT & g

Ans X 1. AFEA AR TTAT
X 2 gFT dS=T
' 3 TTIeTHT AT

}(4.@3%

Question ID : 9895806885
Chosen Option : 3






